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Find f(¢) and a suchthat1+jln(f(t)) dr_ 2
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Let g(x) = J. f(#) dt, where f is the function whose graph is shown on the right. SCORE: /30 PTS
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[a]  Find g(-4).
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[b] Find g'(—4) . Explain your answer very briefly.
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[c] Find all critical numbers of g that do NOT correspond to local maxima nor local minima. Explain your answer very briefly.
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[d] Find all intervals over which g is increasing and concave down. Explain your answer very briefly.
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If g(x) = Tln(2 +1%) dr, find g"(1). SCORE: __ /15PTS
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The table gives the acceleration of a car (in meters/minute?) at various times (in minutes). SCORE: /15 PTS
Attime 7 = 2, the velocity of the car was 7 meters/minute.
0 1 2 3 4 5 6 7 8 9 10 11 12 13
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[a]

Write an expression involving an integral for the velocity of the car at ¢ = 10
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Estimate the velocity of the car at £ =10 using [a], 4 subint(ervals and midpoints. Specify the units of your answer.
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